|

GEFRB1ER - 288, BEFH 1 (REEHR P

(1) 20°+7x°+ (2a+5)x+5a=(2x+5)a+2x*+7x*+5x
=(2x+5)a+x(2x*+7x+5)

=(2x+5)a+x(2x+5)(x+1)
=(2x+5)(a+x"+x)
=(2x+5)(x*+x+a) - (%)

2 3
—x(x—;) (O<x<7>
X0, F973AHDEHICHREDT, FE A )
MO R y=|x (x|
<) D e X 0 i
9
k=0, 1—6<k0)<1_’. 2 1if
B 9 ...... (%{)
k= ﬁ@k% 3 iE
O<k<i%ka§ 41

3) y=—(x"—6ax)+3=—(x—3a)*+9a°+3
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79 7 Ol x=3a, %<a<é D—<3a<1 ThHhHEND, 02x=1

DHFFTT T 7IIRHD L H 2% HD
x=3a DL X F KM 9a+3
=0 D& Ei/ME 3

bl b,
mf+3—3=%—ib
1
2___~
@ =7
%<a<L 7205
. zﬁ ...... (%
3/3 9

(1) BIZIE6ARDRY%Z A, B, CO3IANIHETHEE

AIZ3AR, BiZ2AK, CIZ1AZGETSZ L% OO0O|000
AWC2R, BIZOR, CICA4ARFRT L L% OO0O0O00
DEIITEKT,

HorL, A, B, CIZERVEZTIARTOEML, KRy 4AREER
YO TARE A, B, CO3ANIHTETAHEEEZ D,

R NE OOOO || DNEFN7ZT 73BT ED D % 5 5

6C2:%:15 @ h
BV OO0OO0OOO || DNEF 720 53 BL 5 2533 % 5 5
9 2:%—36 :@i @
ISNE
15X36=540 1 - (%)
(2) {y=x2—2(a—|—1)x—|—a2+ab—3b
y=0
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Agl))
x*—2(a+1)x+a*+ab—3b=0

B E x AT o0, e DE3LHLD=0L%5DT

D
4

ab—2a—3b—1=0
a(b—2)—3(b—2)—6—1=0
(a—3)(6—2)=7

a—3, b—2 13RI D

(a—3, b—2)=(1, 7), (7, 1),

(@, 0)=(4, 9), (10, 3), (2,

—=(a+1)*—a’*—ab+3b=—ab+2a+3b+1=0

-1, —=7), (=7, —1)
_5), (_4’ 1) ...... <%{>

(3) 2024=2°X11X2372H5, 2024 OIEDOKEIZ

2°X117%23% (x, v, 2
TREINLETH S, %S

=(1+2+2%4+2°)(1+11)(1+23)

=15X12X24=4320 - (%)
5 T
S=114240¢) -+ (%)

1) P(A)=1—P(A)= 1—%
2 e
—3 ...... ({5\)

P.(B) Pi,;‘égf) %x3
:% ...... (%ﬁ)

IR, 0=x=3, 0=y=1, 0=z=1)

o) 4320
5) 864 0%
o) 172 -4
9 34 -2
5)____9_ el
52____1_ ]
0 -1
1
4 A B

2)  P(B)=1—{P(ANB)+P(A)—P(ANB))
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1,1 1 3+4—2
(535 g
1_%:17_2 ...... (%)
(3) PB(A)zﬂlfi—Qﬁz%xl—f=% ------ (%)
... _P(ANB) P(B)—P(ANB) (1 1\_3 5
2EH 5
L1 1
P.(B)P(A) _ 273 _ 6
_ 2) 1.1.5 7
P4+(B)P(A)+Pz(B)P(A) Lxti2xt L
112 2 .
:E 727 ...... (D>
PA(B)Z%JZU
P4+(B)P(A)=P(ANB)
Po(B)= P(ANB) ,
P(A)
P#(B)P(A)=P(ANB)
ThHHH
P.(B)P(A) _ P(ANB)

P.(B)P(A)+Pi(B)P(A) P(ANB)+P(ANB)
1

6 1122
1,5 6.7 7
6 12

(1) f(x)=3(x*"—1)=3(x+1)(x—1)
F(x)=0%,7%2%x DOl
x=—1, 1
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WWELD, x=—1THK, x=1THi/h [ O Y I
EBBID Fel+lol=]o]+
- 1 e A
a=—1 BA=1 (%) oo | o | B S|
(2) f(x)=3x*-3%D

f(x)=f(3x2—3)dx=x3—3x+c (CidMrER)

f(2)=4%D
3—6+C=4
C=2
LT
f(x)=x3—3x+2 ...... (%)

3)  f(—1)=—1+3+2=4, f(1)=1—3+2=0

B y=x>+bx+cH 25 (=1, 4), (1, 0) Z@EL05
4=1—>db+c
h—=—3 eeeer @D
0=1+b+c
b+c=—1 - ©)

O+@ &D
2%b=—4 . bh=—2

@~MLALT
—2+c=—1 Soooce=1

S=f_11(x3—3x-|—2—x2+2x—1)dx
1
=f_1(x3—x2—x+1)dx
=gﬁ7—x%kndx

1
=2[—Lx3+x]
0

3
1
=2(-3+1)
4
— ... A
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bo=2+(n—1)5=5n—3 - (5)
{a,} : (@, 5 8, 11, 14, @D, 20, -
(b} 2 @), 7, 12, @0, 22, -
Cy=17 wvees (5)
(2) {c )} ZWIHE2, N7 15 (3 &5 D/NAEE) OEEEFTHHHh
b

cn=2+(n—1)-15=15n—13 - (%)
(3) @.=100 £ ¥

3n—1=<100

3n=101 nglb)ﬂ:;;g_(;...

cn=100 £V
157 —13=<100
15n=113 . n=3_7 5.
15

ThHoHN5H

33 7 33 7
S=>ar— X cr=2(3k—1)— > (152—13)
k=1 k=1 k=1 k=1

=3><%><33><34—33—(15><%><7><8—13><7>
=1683—33—(420—91)
:1321 ...... (f‘é:‘)
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